Pioneer 1000

Replacement Parts List: Heater
Part Numbers OSEO1-HL4-101

8/14/2019

(5) (1)

(22) (23)(24)25)(26) (27) (28) (8)
Req'd
No. Description P/N g Pkg Qty
Qty

1 [Fan Motor (only, doesn't include case) OSEQ01-HL3-102R5 1 1
2 |Heater Vent/louver OSEO01-HL3-102R2 6 3
3 |Bracket, heater unit OSEO1-HL4-101R8 2 2
4 |(Brace, heater unit OSEO1-HL4-101R9 2 2
5 [Filter, blower (fits over Fan Motor) OSEO1-HL4-101R4 1 1
6 |Switch OSEO1-HL3-100R4 1 1
7 [Wire-tie, large Not Available 16 N/A
8 |Air wye OSEO1-HL4-101R7 2 1
9 (92 inch vent hose OSEO1-HL4-101R3 1 1
10 :f)lnch vent hose (use 92 inch hose, cut to OSEO1-HLA-101R3 1 1
1 :l:)lnch vent hose (use 92 inch hose, cut to O0SEO1-HLA-101R3 1 1
12 f1if)|nch vent hose (use 92 inch hose, cut to OSEO1-HLA-101R3 1 1
13 f1i'f[3)|nch vent hose (use 92 inch hose, cut to OSEO1-HLA-101R3 1 1
14 f1if[l)|nch vent hose (use 92 inch hose, cut to OSEO1-HLA-101R3 1 1
15 f1i::>)|nch vent hose (use 92 inch hose, cut to OSEO1-HLA-101R3 1 1
16 |Coupling, 3/4 to 1/2 inch 0SEO01-HL4-101R5 2 1

HONDASXS.COM




17 [Grommet OSEO1-HL4-101R6 3 3

18 |Hose Clamp, #8 Not Available 2 N/A
19 |Hose Clamp, #10 Not Available 4 N/A
20 [Heater Hose, 3/4 x 10 inch Not Available 1 N/A
21 |Heater Hose, 3/4 x 30 inch Not Available 1 N/A
22 |Wire-tie base Not Available 1 N/A
23 [Wire-tie, small Not Available 4 N/A
24 |#6 x 5/8 in tapping screw Not Available 24 N/A
25 |8-32 x 3/8 in pan head screw Not Available 8 N/A
26 |1/4 x 3/4 inch bolt Not Available 4 N/A
27 |1/4 inch fender washer 0SU95-HL4-10R5 4 2

28 [1/4-20 lock nut Not Available 4 N/A
29 |Radiator Core OSEO1-HL3-102R1 1 1

30 |Wire harness (Fan motor) 0SE01-HL4-101R10 1 1

HONDASXS.COM




